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The Definition of M or phology

1. What is morphology?

2. How many kinds of words are there?

3. Ismorphology applied to every kind of word?

4. What is the changing of aword from one form to another called?

5. How is morphology applied to verbs?

6. How is morphology applied to nouns?

1. Morphology is science of conjugating words into different forms due
to the intended meaning.

2. There are three types of words:

* Nouns: for example - s >==(tree)
* Verbs: for example - Hﬁfj\‘(write)

* Prepositions: for example - _J<(on)

3. Morphology is only applied to nouns and verbs because they are able
to be conjugated into different forms, but prepositions are not able to be
conjugated, rather they always remain in one form.

4. The changing of a word from one form to another is called
conjugation.

5. Morphology is applied to verbs by conjugating them from the preterite

tense, to the aorist tense, and to the imperative. For example: ~33 ~34 t}(be

happy, he is happy, he was happy)
6. Morphology is applied to nouns by conjugating them:

« into the dual and plural forms: ;&1 01,4 #(rivers, two rivers, ariver)
« into the diminutive pattern: & (asmall river)

* into a possessive noun form: s ,zs (a person of the river)
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The Division of Verbs

7. What isaverb?

8. How many different kinds of verbs are there in relation to the number
of root letters?

9. How many kinds of triliteral verbs are there in relation to root letters?

10. What is a sound verb?

11. What is a perfect verb?

12. What is an unsound verb?

13. How many weak letters are there?

14. What are double-letter verbs?

7. A verb is a word that indicates a state or event that occurred in the

past, occurs in the present, or will occur in the future. For example: ;2.5 (he

was good) - in the past and f\;‘\g(he takes) - in the present or future.

8. There are two kinds of verbsin relation to root letters:

« Triliteral: a verb made up of three root letters, for example =5 (he
hel ped)

* Quadriliteral: a verb made up of four root letters, for example ;>3 (he

rolled)

9. There are two types of triliteral verbsin relation to root letters. sound
and unsound.

10. A sound verb is a verb that does not have any weak lettersin its root.
There are three kinds of sound verbs: a verb with a glottal stop in its root

and a double-letter verb. For example: % (he ran away).

11. A perfect verb is a sound verb that does not have a glottal stop or
double-letter in its root. For example: J§.~ (he thanked).

12. An unsound verb is a verb that has a weak letter in its root. For
example: . (he threw).

13. There are three weak letters: alif, waw and ya'.
14. A double-letter verb is averb that has two identical lettersin its root.

For example: J3; (it quaked).
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Sound and Unsound
15. What is the form for atriliteral verb?
16. What is a double-letter verb?
17. What isaverb with aglottal stop in its root?
18. How many kinds of verbs with a glottal stop in itsroot are there?
19. How many kinds of unsound verbs are there?
20. What is a verb that has two weak |etters called?
21. When is averb truly unsound or doubled? Or when does it truly have
aglottal stop?

15. The form of aftriliteral verb is: (}%3. The first letter is called the first

root letter, the second is called the second root letter and the third is called
the third root | etter.
16. A double-letter verb is a verb that has two identical lettersin its root.

For example: %(he ran away).

17. A verb that has a glottal stop is a verb that has a glottal stop in its
root. For example: Jf i(he ate).

18. There are three types of verbs that have a glottal stop in their root:

« Glottal stop of the first root letter; 35{(he took)

« Glottal stop of the second root letter: JL-(he asked)

« Glottal stop of the third root letter: Lzi(he emerged)

19. There are three types of weak verbs:

» Quasi-sound verb: when the weak letter isin the first root letter: 125 (he
promised)

» Hollow verb: when the weak letter is in the second root |etter: J\i(he
said)

« Defective verb: when the weak letter is in the third root letter: L=3(he

supplicated)

20. A verb that has two weak letters is called a cluster verb. There are
two kinds of cluster verbs:

» A cluster verb that has a weak letter in the first and third root letters.

For example: _23(he completed)
* A cluster verb that has a weak letter in the second and third root |etters.
For example: (it roasted)

21. A verb truly has a glottal stop or istruly a double-letter verb when the
glottal stop or the two identical letters are in the root of the verb, not
including added letters. So:

« 5llai! this verb does not have a glottal stop because itsroot is slb.

. 53\3 this verb is not a double-letter verb because its root is »-G.
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» (56 This verb is not an unsound verb because its root is }3.
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Triliteral Verbswith Increaseletters

22. What isa singular triliteral verb?

23. What is atriliteral verb with increase letters?

24. How many forms does artriliteral verb with one increase letter have?

25. How many forms does a triliteral verb with two increase letters have?

26. How many forms does a triliteral verb with three increase letters
have?

27. How many forms of triliteral verbs with increase |etters are there?

28. Are all the forms of triliteral verbs with increase letters applied to all
triliteral verbs?

22. A singular triliteral verb is a triliteral verb that only has its root

letters, without any increase letters. For example Z25=(he knew).

23. A triliteral verb with increase lettersis atriliteral verb that has added
|etters to its root:

« Either one added letter: for example: &5~ i(he honored).
« Or two added letters: for example: lai\(he was set free).

« Or three added letters; for example: j2xi) (he asked for forgiveness).
24. There are three forms of triliteral verbs that have one increase letter:
« 1% This is form 11'. Here the second root letter is doubled. For

example: == (he notified)

* J¢L Thisisform I1l. Here an dlif is added to the root. For example: 7l
(he negotiated)
. J.o‘ Thisisform V. Here a glottal stop is added to the beginning of

the root. For example: 7>I(he notified)
25. There are five forms of triliteral verbs that have two increase letters:
* J*& This is form V. Here a ta' is added and the second root letter is

doubled. For example: (5% (he accepted)

* Jel& Thisisform VI. Here ata' and an alif are added. For example (iL&
(he met)
« [J2z) This is form VII. Here a glottal stop and a nin are added. For

example: (5] (it was accepted)

« (23] This is form VIII. Here a glottal stop and a ta' are added. For
example: <3 (he received)

* }=3l Thisisform IX. Here a glottal stop is added and the last root |etter

is doubled. For example: 7! (he become red)
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26. There are two forms of triliteral verbs that have two increase letters:
o Jaii] This is form X. Here a glottal stop, sin and ta' are added. For

example: ;ixis! (he asked for forgiveness)
* =923 Thisisform X I°. Here a glottal stop and awaw are added along

with another second root letter. For example: &3sd>) (It was bent outward)

27. There are ten forms of triliteral verbs with increase letters.®
28. No, in order to know which forms are applied to which verbs one
must refer to dictionaries. For example form IV and XII are not applied to

the verb C"

1. The number of the forms is according to the Hans Wehr dictionary. They can be
found on page 13 of the introduction of the compact version of the internationally
recognized fourth edition.

2. Form X1 is not mentioned in this book

3. Mentioned in this book, for there are more than that.
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Quadriliteral Verbswith Increase L etters

29. How many types of quadriliteral verbs are there?

30. Does the quadriliteral verb have a pattern like the triliteral verb?

31. What isa singular quadriliteral verb?

32. What is a quadriliteral verb with increase letters?

33. How many forms does a quadriliteral verb with one increase letter
have?

34. How many forms does a quadriliteral verb with two increase letters
have?

35. How many forms of quadriliteral verbs with increase letters are
there?

36. Are al the forms of quadriliteral verbs with increase letters applied to
all quadrilteral verbs?

29. There are two types of quadriliteral verbs:

* Regular: when there aren't any doubled lettersin its root. For example:

z> (herolled)
» Double-lettered: when the first and third root | etters are identical aswell
as the second and fourth. For example J3; (it quaked)

30. The pattern for the quadriliteral verb is J=3. The first letter is called

the first root letter, then the second root letter, then the third root letter then
the fourth root letter.
31. A single quadriliteral verb is a qaudriliteral verb that does not have

any increase | etters. For example: z5>3 (he rolled)

32. A quadriliteral verb with increase letters is a quadriliteral verb that
has one or two letters added to its root.
33. Thereisone form of aquadriliteral verb with one increase |etter:

« M5 Thisisform I1. Here ata' is added to the root. For example: £5~15

(he rolled down)
34. There are two forms of a quadriliteral verb with two increase letters:

« () This is form 111. Here a glottal stop and a niin are added. For
example :%;~! (translate)
« {as| Thisis form IV. Here a glottal stop is added and the fourth root

letter is doubled. For example: 5x%31 (he shivered)

35. There are three forms of quadriliteral verbs with increase letters.*
36. No, to know which forms are applied to which verbs one must refer
to dictionaries. For example forms Il and 1V forms are not applied to the

verb 5>,

1. Mentioned in this book, for there are more.



www.alhassanain.org/Zenglish

ThePreterite TenseVerb

37. How many tenses of verbs are there?

38. What is a preterite tense verb?

39. What is the vowel sign of the last syllable of a preterite tense verb?

40. What do you know about a glottal stop being added to the beginning
of the preterite tense verb?

41. What are the vowel signs of the preterite tense letters?

42. What is the vowel sign of the second root letter of atriliteral verb?

37. There are three tenses of a verb: preterite, aorist, imperative.

38. The preterite tense is a verb that indicates a state or action that

happened in the past. For example: J5i(he took)

39. The last syllable of a preterite tense verb is indeclinable on:

« A fathah, for example &5 (he hit)

* A Dummah, if it is connected to the waw plural pronoun, for example
I (they hit)

* A sakiin, if a nominative pronoun with a vowel sign is connected to the
verb, for example &5 (1 hit)

40. The glottal stop that is added to the beginning of the perterite tense
verbs can be:
* A gat® glottal stop which takes a fathah in four-letter verbs. For

example: 35 I(he honored)

» A wad glottal stop which takes a kasrah in five and six-letter verbs. For
example: il (he was set free)

41. All of the vowel signs of the perterite tense verb, except the second
root letter are fathahs. For example #5” T (he honored).

42. The second root letter of single triliteral verbs can either have a
fathah, dummah or kasrah. For example: &> (he hit) @jf (he honored) and

+= (he knew)

10
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TheAorist Tense

43. What is an aorist tense verb?

44. How is an aorist tense verb formed?

45. How many aorist tense letters are there?

46. When does the aorist tense letter have dummah?

47. When does the aorist tense letter have afathah?

48. Isthe form of atriliteral preterite tense verb changed if an aorist letter
is added to it?

49. What happensiif an aorist letter is added to a preterite tense verb with
more than three letters?

50. Is an aorist tense verb indeclinable?

43. The aorist tense is a verb that indicates a state or action that is

happening in the present or will happen in the future. For example 5 ji (he

is) and (;.Kw (he speaks to).
44. The aorist tense verb is formed from the preterite tense verb. An
aorist letter is added to the beginning of the preterite tense verb.

45, There are four aorist tense letters: < ¢ O | For example Q.K‘T(I am

speaking to) (i.&» (we are speaking to) (i.&,; (heis speaking to) ;.&,4 (sheis
speaking to).
46. The aorist tense letter has a dummah if it is added to a preterite tense

verb with four letters. For example J3J; becomes j),i (its shaking) or 31

becomes £,53 (he is honoring).
47. The aorist tense letter has a fathah if it is added to a preterite tense
verb with three, five or six letters. For example &3> becomes &5 (he is

hitting) or Gl becomes ks (heis setting free).
48. If an aorist tense letter is added to a preterite tense triliteral verb:
+ the first root letter is given asakiin, for example: &= (he hits)

* there is no rule for the second root letter, for example: 5.@ (he knows)

=% (he helps) &, (he hits)

49. If an aorist letter is added to a preterite tense with more than three
letters:

* The letter before the last is always given a kasrah, for example: ’Cf--\i

(herolls)
* The letters before the last |etter are given a fathah if the beginning of

the preterite tense verb was ta', for example: ’@’>S\3 becomes ’Cﬁuu (herolls

down).
50. The last letter of an aorist tense verb is declinable, which means it
changes. It is nominative, subjunctive or jussive due to different situations.

11
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For example: &,z (he hits) and &3 ) (he will never hit) and slkg | (he

has not been set free). The last letter of an aorist tense verb isindeclinable in
some cases. *

1. Refer to question number 237

12
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The Imperative

51. What is an imperative?

52. What is an imperative formed from?

53. Isthe last syllable of an imperative declinable or indeclinable?

54. What vowel sign does the glottal stop of an imperative receive?

55. What isawad glottal stop?

56. What isa gat® glottal stop?

57. What should be done if the speaker wants to use the imperative in the
first or third person?

51. The imperative verb is used to ask something from the listener in the

present or in the future. For example: uf (be) and g,.ffi (write)

52. The imperative is formed from the aorist tense by:
* erasing the aorist letter from the beginning of the word, for example:

é-u.-: becomes »1% (precede)

* then, adding a glottal stop if the verb is a single triliteral verb or starts
with an added glottal stop. The glottal stop is a gat® glottal stop if the verb
has four letters and awadl glottal stop if it has more or less than four letters.

For example: &> becomes & . then becomes —.>! (hit) or gJ.:m:-T

becomes /% then becomes -, I(act well)

53. The last syllable of an imperative is indeclinable, it does not change.
It is indeclinable upon:

- asakiin if the last letter is not aweak |etter, for example: 221 (help)

« erasing the weak letter of defective verbs, for example .~ becomes e,
(throw) or e+ becomes L=i(give)

» erasing the nun if the verb is connected to the dual alif, the plural waw

or the ya' personal pronoun, for example: \},/as'\‘ (you two people help)

54. The imperative glottal stop:
* is given a dummah if the second root letter of a three letter verb has a

dummah in the aorist tense. For example: ;Ei (look)

* is given a fathah if it is a four letter verb. For example: @’fT(be
generous)

* is given a kasrah in other than these two cases. For example: (.l»i
(know) and <2} (hit) and i3 (begin) and =il (seek knowledge).

55. A wad glottal stop is pronounced at the beginning of a sentence, for
example: !} L k>| (Sit, oh man.), but is not pronounced in the middle of

asentence, for example: > *}%5 L (Oh man, sit.)

13
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56. A gat® glottal stop is pronounced in the beginning of a sentence, for
example: [}>; L JgT(Accept, oh man.), and in the middle of a sentence, for

example: 37 2J45 L (Oh man, accept.)

57. The imperative used for the first or third person has a special form
which is called the imperative by Iam where a jussive lam is added to the

beginning of the aorist tense verb and takes a kasrah, for example: <« ,A.J
qiﬂ (He must hit to teach manners), except if it is after a fa' or waw, in

this case it is given a sakiin, for example: s L3ls (feel comfortable).

14
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Intransitive and Transitive Verbs
58. Does every verb need an actor?
59. Does every verb need an objective compliment?
60. When does a triliteral intransitive verb become transitive?
61. How many categories of transitive verbs are there?
62. What verbs are passive verbs derived from?
63. Is a passive verb derived from an intransitive verb?
64. How is a passive verb in the preterite tense formed?
65. How is a passive verb in the aorist tense formed?
58. Every verb needs an actor and the actor is either:

« Apparent, for example: \ja-\.ug 5,408l .Js (The teachers sat down
and then discussed.)
« Hidden, for example: %! (play) where the 'you' is hidden.

59. No, there are two types of verbs:
* Intransitive: A verb that suffices itself with an actor and does not need

an objective compliment. For example: f@\ ¢ (The boy came.)
» Transitive: A verb that doe not suffice itself with an actor, rather it
needs an objective compliment as well. For example: &ﬁ\ St 3 (The

servant broke a pitcher.)
60. Most triliteral intransitive verbs are made transitive if placed into

form Il or IV. For example: 3> (to last) becomes (’a\sf(to make last) or éjf (to

be noble) becomes gﬁ(to call noble).
61. There are two categories of transitive verbs:
* Active: averb whose actor is known, for example: (RE :\MJJ\ < (The

student sharpened a pencil.)
» Passive: a verb whose actor is not mentioned and whose objective

compliment is put in the actor's place. For example: (;.LaJ\ &y (The pencil

was sharpened.)
62. A passive verb is normally formed from a transitive verb and the
objective compliment takes the place of the actor after it is erased from the

sentence. For example: Lk Xy &35 (Zayd hit Salim) becomes s u,fo

(Salim was hit.)
63, Yes, apassive verb is formed from an intransitive verb:

« if it can be made transitive by using a preposition. For example: (=3

SR Je 2y (The guard seized the thief.) becomes ‘=l e uai (the
thief was seized.)
* if there is a adverbal noun of time or place after the verb. For example:

513 .’L;L’J\ #L (the worshiper fasted [in] March.) becomes )13 > (March
was fasted.)

15
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« if there is an infinitive after the verb. For example: Yli>| fod ez

Loslze (The group rallied, a great rally.) becomes L& e (liz>1 (A great

rally was rallied.)
64. The preterite tense passive verb is made from the preterite tense
active verb by giving a kasrah to the second to last letter and a dummah to

al other letters that have a vowel sign aready. For example: Jf i(he ate)
becomes (Js” }T(it was eaten) or i) (he faced) becomes (il (it was
faced).

65. The aorist tense passive verb is made from the aorist tense active verb
by giving the first letter a dummah and the second to last |etter a fathah. For

example: 21x (he knows) becomes 41 (it is known) or &5 (he writes)

becomes &3X(it is being written

16
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Divisions of Nouns
66. What is a noun?
67. What are the different types of nouns?
68. What is a conjugational noun?
69. How many types of conjugational nouns are there?
70. What is an unnonated noun?
71. How many unnonated nouns are there?
72. What is an apolistic noun?
73. What is a derived noun?
74. What is arelative clause noun?
75. How many types of relative clause nouns are there?
76. How many types of apolistic adjectives are there?
77. How many types of derived adjectives are there?
78. How many types of derived generic nouns there?
79. What is an adjective?
80. How many types of adjectives are there?
81. What adjectives are apolistic?
82. How many adjectives are derived?
66. A noun is a word that indicates a complete meaning that is not

conditioned with time. For example: 45 (paper) s (Yusuf) 2,51 (to call

noble).
67. A noun is conjugational, unnonated, apolistic or derived.

68. A conjugational noun is a noun like the word 4.~ (city) which could
be put into the dual form ol (two cities), the plural form S (cities), the

diminutive form &34 (asmall city) and the possessive form {34 (my city).

69. There are two types of conjugational nouns: relative clause nouns and
adjectives.

70. An unnonated noun is a noun that stays in one state, it does not
become dual, plural, and diminutive or possessive.

71. There are six types of unnonated nouns: pronoun s» (he),
demonstrative pronoun 4 (this), conjunct 4! (that), interrogative pronoun
o~ (who), conditional noun Le¢= (where), and an adverbal noun of time or

place 5 (when).

72. An apolistic noun is a noun that is not derived from a verb. For
example: |55 (man) and s (Y usuf).

73. A derived noun is a noun that is derived from a verb. For example:
#,S'(to call noble) is derived from the verb %5 i(he called noble) and @LA

(kitchen) is derived from the noun @L (he cooked).

17
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74. A relative clause noun is a noun that can be described by another
word. For example J>, (man), 3~ (tree) and #/51 (to call noble).

75. Relative clauses can either be derived or apolistic.
76. There are two types of apolistic relative clause nouns: a proper noun -

<> (Damascus) and an apolistic generic noun - <= (fox).

77. There are two types of derived relative clause nouns: an infinitive -
¢l (to build) and a derived generic noun - = (playground).

78. There are two types of derived generic nouns. an adverbial noun of
time or place - _-l& (meeting) or an instrumental noun - zlie (key).

79. An adjective isaword related to arelative clause noun that describes
its condition.

80. There are two types of adjectives: derived and apolistic.

81. Apolistic adjectives are possessive. For example: Z;f (Arabic)

82. There are five kinds of derived adjectives. The actor form, the
objective compliment, the exaggerated form, the adjective form,
comparative/superlative form.

18
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Proper and Generic Nouns

83. What is a proper noun?

84. What is a generic noun?

85. How many types of generic nouns are there?

86. List the derived generic nouns.

87. What is a noun of place?

88. What is a noun of time?

89. How is anoun of place/time formed from atriliteral verb?

90. How is a noun of place/time formed from a verb with more than three
letters?

91. What is an instrumental noun?

92. How is an instrumental noun formed?

83. A proper noun is a noun that denotes a specific person, animal or

place. For example: 2! (Abraham), 9,\: (barud, the name of a horse) and

&4 (Damascus).

84. A generic noun is a noun that denotes, in an unspecific way, all
people, animals or things that fall under one species. For example: }5;
(man), 215 (dog) and &-t» (city).

85. There are two types of generic nouns: derived and apolistic.

86. The derived generic nouns are: nouns of place/time and instrumental
nouns.

87. A noun of place is aform that indicates the place that an action took

place. For example: ch (kitchen).
88. A noun of time is a form that indicates the time that an action took
place. For example: <4 (evening).

89. A time/place noun is formed from a triliteral verb in the following
forms:

1. J=4s for verbs whose second root letter has a dummah in the aorist
tense, for example ‘cﬁm (he is cooking) becomes C‘k" (kitchen), for verbs
whose second root |etter has a fathah in the aorist tense, for example: &4
(he is slaughtering) becomes CS,J\.S (slaughterhouse) and for verbs whose
third root letter is a weak letter, for example: .z (he is shooting) becomes
(e~ (gun range).

2. =& for verbs whose second root |etter has a kasrah in the aorist tense,

for example: &2 (he is hitting) becomes .2+ (camp site).

90. The time/place nouns are formed from verbs that have more than
three letters by using their passive aorist tense form and substituting the
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aorist letter with a mim with a dummah. For example: &:i.i (a cure was

sought) becomes ;s (hospital).

91. Aninstrumental noun is aform that indicates the thing that the action
was performed with. For example: 55 (file).

92. Instrumental nouns are taken from transitive trilitera verbs. There are
three forms that they have:

1. |=és: for example: sy (file)
2. dzis: for example: .25 (broom)

3. Jleie: for example: ~lzis (key)
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Infinitives

93. What is an infinitive?

94. How is an infinitive formed from triliteral verbs without increase
|etters?

95. How is aninfinitive formed from triliteral verbs with increase letters?

96. How is an infinitive formed from quadriliteral verbs without increase
letters?

97. How is an infinitive formed from quadriliteral verbs with increase
letters?

98. Are there infinitives for verbs that have not been mentioned?

99. How is amimi infinitive formed from triliteral verbs?

100. How is a mimi infinitive formed from verbs with more than three
letters?

93. An infinitive is a noun that indicates a state or action without

indicating its time. For example A (removal) or v-«LoU (submission)
94. There are many forms for infinitives taken from triliteral verbs
without increase letters. They can be found in dictionaries. For example: ;.25

(help) and s> (sitting) and many more.

95. There are rules for the infinitives of triliteral verbs with increase
|etters:

« Form Il - the infinitive of form Il has the following form: =&, for
example: #35 becomes %,

« Form 111 - the infinitive of form 111 has the following form: al#L, for
example: &L becomes 455l

« Form IV - Jus), for example: 45T becomes #15']

« FormV - 4, for example: G becomes b

e Form VI - |\, for example: 163 becomes AsLs

« Form VI - Jti), for example: 555! becomes ;L.SG)

s Form VIII - Jlxz), for example: aa~) becomes ¢ Lozx)

e Form IX - JMs3), for example: 5=~ becomes ,|,a~!
« Form X - Jliz), for example: -5 7 becomes pl> .|

 Form XI1 - Jlx=3), for example: &o391>) becomes <\dud>|
96. The two forms of the infinitive of quadriliteral verbs without increase
letters are: 4l and J\s, for example: £5~5 becomes 255>5 or z|~».

97. There are rules for the infinitives of quadriliteral verbs with increase
letters:
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« Form Il - Jl«&5, for example: ”@’:-33 becomes @’:-:\3
« Form 111 - JMsl, for example: 255> becomes #1£ >~}

« Form IV - Ji), for example: olibs) becomes Olizab)

98. There is an infinitive for triliteral and quadriliteral verbs with or
without increase letters called a mimi infinitive. It is called this because
there is a mim added to the beginning of it.

99. The mimt infinitive is formed from triliteral verbs by putting them in
the following forms:

* Jxs thisform is used if the first root letter is awaw. For example: 13
(he promised) becomes 4s s+ (promise).
« Jxis this from is used in al other cases. For example: (ST (he ate)

becomes S (food).

100. The mimi infinitive is formed from verbs with more than three
letters by using the passive aorist tense and replacing the aorist letter with a

mim that has a dummah. For example: )45 (is brought down) becomes

1352 (fall).
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Adjectives. The Active and Passive Participle

101. What is an active particple?

102. How is the active participle formed from triliteral verbs?

103. How is the active participle formed from other than triliteral verbs?

104. What is a passive participle?

105. How is a passive participle formed from triliteral verbs?

106. How is a passive participle formed from other than triliteral verbs?

107. From what type of verbsis the passive participle formed?

108. How many derived nouns are there that have more than three letters
and one form?

101. The active participle is a form that indicates the performer of an

action. For example: <,L> (hitter).
102. The active participle is formed from triliteral verbs in the form of
J=Lo. For example (3 (he studied) becomes )\ (studier).

103. The actor form is formed from other than triliteral verbs by putting
the verb in the active aorist tense and substituting the aorist letter with a
mim that has a dummah and giving the second to last letter a kasrah. For

example: #,53 becomes 3,54

104. The passive participle is a form that indicates what received an
action. For example & 9,25 (the hit).

105. The passive participle is formed from triliteral verbs in the form of
Jsxis. For example: <5~ becomes & 5554

106. The passive participle is formed from other than triliteral verbs by
putting the verb in the passive aorist tense and substituting the aorist letter

with amim that has a dummah. For example: é:ui becomes gi,w;

107. The passive participle is formed from transitive verbs, either
transitive by themselves or verbs that are made transitive by a preposition.

108. The passive participle, mimi infinitive and the time/place nouns that
are formed from a verb with more than three letters all have the same form.
They are differentiated by their meanings.
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The Adjective

109. What is an adjective?

110. How is an adjective formed from aftriliteral verb?

111. How is an adjective formed from a triliteral verb that indicates a
color, defect or decoration?

112. How is an adjective formed from a non-triliteral verb?

109. An adjective is a form derived from an intransitive verb that slightly
indicates an actor, except that it does not indicate the action of the actor,

rather it indicates an established characteristic of the actor. For example: 13

=3 (a nice boy) or }; 255(an honorable man). These adjectives are

established characteristics found in the boy and man.
110. Thereis no rule in forming adjectives from triliteral verbs. They are

formed in numerous forms. For example: »U> (purified), olilee (thirsty)
and _a,b> (delicate).

111. The adjective formed from triliteral verbs that indicate color, defect
or decoration is put into the form J.«éf. For example: «>3)\ 21 (a brown face),
b =1 (ablind heart) and &) Zazal (a slender physique).

112. The adjective is formed from non-triliteral verbs by using the active
participle form.
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The Forms of Exaggeration
113. What are the forms of exaggeration?
114. How are the forms of exaggeration formed?
115. What do the forms fa'al and fail mean?
116. What rule applies to the faial form and the noun it describes?
117. What rule applies to the fail form and the noun it describes?
113. The forms of exaggeration are forms that bring about a change in

the active participle to indicate exaggeration. For example: +=; (he showed

mercy) becomes 4=, (the merciful) which becomes s-~; (the very merciful).

114. The exaggeration form is only formed from triliteral verbs, but there
is no rule one how to form them. The most famous forms are:

. s 1 JES (giant)

« 15z WES (high scholar)
o Jlais [Jleis (excellent)
o s I enis (destitute)
o il o % (very truthful)
o ds a5 (very cautious)

* > 1 e (very merciful)

e 98" 1 J s (big liar)

115. The forms fail and fail are used to indicate an actor or objective
compliment. For example: Js; is the same as <4 and > is the same as
=0

116. The rule that applies to the form fail and the noun it describes is

different depending on its meaning:
* If it has the meaning of an objective compliment it follows the noun it

describes in gender. For example: Jsw; I4» (this male messenger) and o

2. (this female messenger).
« If it has the meaning of an actor it remains masculine even if the noun it
is describing is feminine. For example: &yl &Y ¢l (the loving father

came) and 5 gk é}\ﬂ &S (the loving mother came). Thisis only the case if
the described word is mentioned, if it is implied the adjective must follow
the described word in gender. For example: &5 o &5:di 2L (the loving

[father] and the loving [mother] came).
117. The rule that applies to the form fail and the noun it describes is
different depending on its meaning:
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« If it has the meaning of an actor it follows the noun it describes in
gender. For example: &ii’ ods 5 3.4% Iia (this male compassionate person

and this female compassionate person).
* If it has the meaning of an objective compliment it remains masculine

even if the noun it is describing is feminine. For example: 7.5 >, ¢~ (an

injured man came) and 7> 5@.»\ <5 (an injured woman came). This is
only the case if the described word is mentioned, if it is implied the
adjective must follow the described word in gender. For example: &’ JERAES

iz > 3 (the injured [man] and the injured [woman] came).
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The Comparative and Superlative Noun

118. What are comparative and superlative nouns?

119. What are comparative and superlative nouns formed from?

120. What verbs are not formed into comparative and superl ative nouns?

121. Why are comparative and superlative nouns not formed from
triliteral verbs that indicate color, defect or trickery?

122. What do we do if we want to use the comparative or superlative
form from averb that is not put into the comparative or superlative tense?

118. The comparative and superlative noun is a form which changes an
adjective to indicate a comparison between one thing and another. An

example of an adjective is. S Ciws (Joseph is big) An example of a

comparative is: aalz) o %31 Caws, (Joseph is bigger than Abraham.)
119. The comparative and superlative are only formed from triliteral
active verbs and always are put in the form J.«AT. For example: g-jf (whichis

a active verb) becomes 55~ i (more generous) and & ,fp (which is a passive

verb) is not put into the comparative or superlative form.

120. Triliteral active verbs which indicate color, defect or trickery as well
as any verb that has more than three letters are not put into the comparative
or superlative forms.

121. The reason that triliteral active verbs which indicate color, defect or
trickery are not formed into the comparative and superlative forms is

because the form J_J for these verbs is used as an adjective. For example:
552 (to make black) becomes >3-+ (black) and ;5% (to loose an eye) becomes

25! (one-eyed).
122. If we want to use the comparative or superlative form from a verb
that is not put into the comparative or superlative tense we must use one of

the words i (more severe), i1 (more) sl (more abundant) or ST
(larger) and then add the infinitive of the verb in the accusative form
(because it is a specificative). For example: 352 becomes;b\j.& A (blacker)

or 5+ becomes|3= ;5T (more one-eyed).
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Definite and I ndefinite Nouns
123. What is an indefinite noun?
124. What is a definite noun?
125. How many types of definite nouns are there?
126. How is an indefinite noun made definite?
123. An indefinite noun is a noun that is common amongst a certain

species, not specific to any one of the instances. For example: ;_1_9 (pen) and
3 (garden).

124. A definite noun is a noun that indicates a specific instance from a
species. For example: 113 (the pen) and Stz

125. There are six forms of definite nouns:

* Proper nouns: Ol (Solomon)

« Pronouns: \f (1)

« Demonstrative pronouns: 4 (this)

e conjuncts. ¢ (he who)

* Made definite by aaif-lam: > (the man)

« Compliment of a prefixed noun : =1 &LS™ (The man's book)

126. A common noun is made definite in the following ways:
* if an alif-lam is added to it (and the nunation is erased if it was

nunated). For example: &-Us™ (a book) becomes &SIl (the book).
« if it is contracted with a definite noun (and the nunation is erased if it
was nunated). For example: 3ts” (my book).
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M asculine and Feminine
127. What is a masculine noun?
128. What is a feminine noun?
129. How is a masculine noun differentiated from a feminine noun?
130. What are the signs of a literated feminine noun?
131. Are al nouns ending with the feminine ta' feminine?

132. Are al nouns ending with the aif magsirah () feminine?

133. Are al nouns ending with an alif and hamzah femine?

134. How many types of masculine and feminine nouns are there?
135. How is arelative clause noun put into the feminine form?
136. How is an adjective put into the feminine form?

137. Are there exceptions to this rule about adjectives?

138. How is an adjective in the o= form put into the feminine form?

139. How is an adjective in the |« form that indicates a color, defect or
trickery put into the feminine form?
140. How is an adjective in the JJ form indicating the comparative or

superlative form put into the feminine form?
127. A masculine noun is a noun that indicates masculinity. For example:

2145 (man)
128. A feminine noun is a noun that indicates femininity. For example:
31! (woman)

129. There is no sign for a masculine noun. It is known by its meaning.
But, feminine nouns are either:

« literated, there are signs indicating its femininity. For example, 5!

* unliterated, there are no signs indicating its femininity. For example,
o~ (sun)

130. There are three signs for literated feminine nouns:

* The feminine ta": 4.« (comfort)

* Alif magsirah: ;. :le¢ (thirsty woman)

* Alif and hamzah: <! >~2» (desertlike)

131. No, some nouns ending with the feminine ta' are masculine. For
example: i=lL (amale name)

132. No, The nouns that end with an aif magsarah which is part of its
root (not added) are not feminine. For example: (s4» (correct guidance).

133. No, the nouns that end with a hamzah preceded by an aif which is
part of its root (not added) are not feminine. For example: s\ (building)

134. There are two types of masculine and feminine nouns:
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» Literal: anoun that is actually masculine or feminine, for example: |-,

(man) and 5+ (woman).
» Figurative: a noun that is not actually masculine or feminine, for
example: ».5 (pen) and 55 (arch).

135. A noun (non-adjective) is made feminine in two ways.
» Grammatically: by adding a feminine ta' to the end of the word. For

example: f (panther) becomes o,c (female panther).
» Non-grammatically: there are no rules for this. For example: *l>,

becomes 5 4!.

136. An adjective is made feminine by adding afeminine ta' to the end of
the word. For example: 3™ (male liar) becomes 43S (female liar).

137. Yes, there are three exceptionsto this rule.

* The form: O

e Theform JJ when the verb indicates color, defects, or trickery.

* The superlative and comparative form.

138. An adjective has the M2 form is made feminine by putting it into
the ;= form. For example: oLzlt (thirsty male) becomes ;iks (thirsty
female).

139. An adjective has the = form and it denotes color, defect, or

trickery is made feminine by putting it into the <> form. For example: &1

(red) becomes <!,~ (red).
140. A superlative or comparative is made feminine by putting it into the
g,bé form. For example: ;ST (bigger) becomes 3% (bigger)
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Maqsur, Mamdud, and Manqus Nouns
141. What is a magsir houn?
142. How is a mangsir noun verbalized?
143. What is a mamdad noun?
144. What is a manqus noun?
145. How is a mangas noun verbalized?
141. A magsar noun is anoun that endsin an alif. The aif can either be:

* long, for example: Las (cane)

» magstrah, for example: . (young man)
142. Magsir nouns are always verbalized with a fathah nunation, except
if it is an unnonated noun. For example: /¢ > (ayoung man came), &

= (1 saw ayoung man), and =& &5 (I passed by a young man)

143. A mamdud noun is a houn that ends with a hamzah preceded by an
alif. For example: ¢ (sky).

144. A manqas noun is a noun that ends with aya' preceded by a kasrah.
For example: >l (judge).

145. A mangus noun is verbalized:
* By two kasrahs after the ya' is erased when it is in the nominative and

genitive cases. For example: > ¢ (ajudge came).
* Just like any other noun in the accusative case, unless it is unnonated.
For example: L6 &4, (I saw ajudge).
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Singleand Dual Forms
146. What is a singular noun?
147. What is a dua noun?
148. How is adua noun formed?
149. Are there some exceptions to this rule?
150. How are magsiir nouns made dual ?
151. How are mamdad nouns made dual ?
146. A singular noun is a noun that indicates one person, one animal, or

one thing. For example: ,i% (a carpenter).
147. A dual noun is anoun that indicates two people, two animals, or two
things. For example: o1, (two carpenters).

148. A noun is put into the dual form by giving the last syllable a fathah
and adding the dual letters which are:
» An alif and nan that has a kasrah if the noun is in the nominative state.

For example: 013 ¢ (two boys came)
* A ya' and niin that has a kasrah if the noun is in the accusative or
genitive case. For example: :éas il (I hunted two sparrows)

149. Yes, there are some exceptions to this rule. The exceptions are
magsiir nouns and mamdad nouns.

150. A magsir noun has two cases:

* If it ends in a straight alif - the alif should be changed to a waw and

then the dual letters should be added. For example: Les (cane) becomes

s Which becomes 01525 (two canes).
* If it ends in an aif magsirah - the alif should be changed to aya' and
then the dual letters should be added. For example: = (young man)

becomes 63 which becomes 0Lz (two young men).

151. A mamdud noun has two cases;
o If the hamzah is a feminine hamzah - the hamzah should be changed
into a waw with a fathah and then the dual letters should be added. For

example: ¢\.2> (green) becomes 3,2 which becomes 0! .25

« |f the hamzah is not a feminine hamzah - the hamzah can either remain
or be changed into a waw with a fathah and then the dual |etters should be

added. For example <~ (sky) becomes ss* or 5L which becomes 0':~ or

Ol3le (two skies).
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Plural Nouns

152. What is a plural?

153. How many forms of plurals are there?

154. What is a sound plural ?

155. How many kinds of sound plurals are there?

156. What are the signs of a masculine sound plural?

157. When is a houn (non-adjective) put into the masculine sound plural
form?

158. When is an adjective put into the masculine sound plural form?

159. What are the signs of a feminine sound plural?

160. When is a noun (non-adjective) put into the feminine sound plural
form?

161. When is an adjective put into the feminine sound plural form?

162. What is a broken plural?

163. How many kinds of broken plurals are there?

164. Are there rules for some of the forms of broken plurals?

165. What are some forms of broken plurals for nouns (non-adj ectives)?

166. What are some forms of broken plurals for adjectives?

152. A plura is a noun that indicates more than two people, animals, or

things. For example: ¢s,% (carpenters).

153. There are two types of plurals: sound plurals and broken plurals.
154. A sound plural is a plural where the word remains the same and the

plural letters are added to it. For example: (..LJ: (teacher) becomes uj.alxi

(teachers).

155. There are two types of sound plurals. masculine sound plurals and
feminine sound plurals.

156. The plural letters for a masculine sound plura are:

* Waw and nan with a fathah when it is in the nominative state. For

example: 09313 2.5 (The visitors came)

* Ya' and nan with a fathah when it is in the accusative state. For
example: (reshl EUT5 (I saw the believers)

* Ya' and nan with afathah when it is in the genative state. For example:
Spesldl e sl (I greeted the arrivers)

157. A noun (non-adjective) is put into the masculine sound plural form
if it is a proper male name that does not have a feminine ta'. For example:

&) becomes Oa.4;.

158. An adjective is put into the masculine sound plural formif:
* it isan adjective of a human that does not have afeminine ta' wheniit is
masculine and it is made feminine by adding a feminine ta'. For example:

4 e (scholar) becomes &s+Jls (scholars).
* it is an adjective of a human in the comparative/superlative form. For
example: ~5T becomes Os1
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159. The plural letters for a sound feminine plural are an alif and ta'
which is added after erasing the feminine ta'. For example: .5+ (believer

woman) becomes L5~ (believer women).

160. A noun (non-adjective) is put into the feminine sound plural formif:
* it is a female proper name, even if it does not end in the feminine ta'.

For example: <+ becomes <.
« it is a infinitive that has more than three letters. For example: i

(definition) becomes <, 5 (definitions).

* it is a noun (masculine or feminine) that ends in one of the feminine
|letters. For example: 4353 (paper) becomes <33 (papers).

161. An adjective is put into the feminine sound plural formif it endsin
one of the feminine letters. For example: $,-S5 (big female) becomes <!,.3”

(big females).
162. A broken plural is a plural where the original letters of the word

change. For example: s~ (book) becomes 5~ (books).
163. There are three types of broken plurals:
« by changing the verbalization of the word, for example: 21 (lion)

becomes L. (lions).
* by erasing one of the letters of the word, for example: j ) (Messenger)
becomes %) (messengers).

* by adding letters to the word, for example: ’}%5(man) becomes j\.@

(men).
164. Y es, there are some rules for some of the broken plurals.
165. Broken plural forms for some nouns (non-adj ectives):

« J=5 becomes J\=, for example: |& (camel) becomes JLa- (camels)
« |% becomes Jf, for example: s (grape) becomes — sl (grapes)

« 2 becomes Jwi, for example: a5 (shoulder) becomes —2usT
(shoulders)
« = becomes J\x, for example: ik (child) becomes JLibi (children)

« il becomes J+, for example: 1 (box) becomes L& (boxes)

o 1« becomes J=é, for example: 4> (occupation) becomes ;>
(occupations)
* JsU becomes |s1s, for example: £ (ring) becomes s>+ (rings)
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« alels becomes J¢I, for example: 4.3 (leg) becomes 155 (legs)
« dl=s becomes ils3, for example: 4l (tribe) becomes L3 (tribes)

« = becomes Julx, for example: 5.5 (scheme) becomes LS
(schemes)
* Jx4s becomes Jslis, for example: |5z (sickle) becomes |>Lx (sickles)

* Jlxis becomes J.slis, for example: s+ (key) becomes ;i (keys)
166. Broken plural forms for some adjectives:
» J= which becomes feminine in the following form > becomes J.«Q

for example: =~ (red) becomes ,~
« J=0 which is the comparative/superlative form becomes |sUi, for

example: |31 (better) becomes Lol
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Possessive Nouns
167. What is a possessive noun?
168. What is the rule of possessive nouns?
169. What exceptions are there to this rule?
170. How is a possessive noun formed from aword ending in a hamzah?
171. How is a possessive noun formed from a word ending in a weak
letter?

172. How is a possessive noun formed from a triliteral or quadriliteral
word ending in an alif or ya'?
167. A possessive noun is a form that indicates a relationship between

two things. For example: {31 (a man from Lebanon).

168. A. The noun is placed in the single masculine form and the last
letter is given a kasrah then given ya's contracted together. For example:

52U (female helper) becomes U (male helper) which becomes .-t
(from a helper). If the word is a broken plural the possessive noun can be
formed from it or its singular form. For example: iS5 (angels) becomes

f;_ib)u or £S5 (of the angels).
169. The following words are exceptions to this rule:
* &yl becomes {3 (@aman from Medina)

« 3,3 (village) becomes & 57 (a man from avillage)
* & (living) becomes ¢ 425 (aman from the living)
« ., (hand) becomes & 33 (hand-made)

« U (father) becomes & (fatherly)

« o) (son) becomes &5 (sonly)

. 'CT (brother) becomes &5 (brotherly)

» & (year) becomes &5 (yearly)

« 23} (language) becomes &4 (literal)

* #3 (blood) becomes s5+3 (of blood)

170. A noun ending in a hamzah:
* |If the hamzah is a feminine hamzah it should be changed into a waw,

for example: <Lz (white) becomes @m (from white).

* If the hamzah is not a feminine hamzah then it can be changed into a
waw or it can remain, for example: sLe (sky) becomes &ssle* or 25l (of the
skies).
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171. A noun ending in aweak letter is put into the possessive noun form
by erasing the weak letter and then adding the ya's. ( il2.2s becomes ?il.2-

(from Mustafa).
172. If the word is a triliteral or quadriliteral word ending in aya' or alif
the last letter should be changed into a waw and then the ya's should be

added. For example: ;= (young man) becomes &% (of ayoung man).
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The Diminutive Pattern
173. What is the diminutive pattern?
174. What are the rules of the diminutive pattern?
175. When is the letter after the diminutive ya' given afathah?
173. The diminutive pattern is a form which indicates smallness,

degradation or love. For example: _,_5’5 (boy) becomes -Qj (small boy)

174. The rules of the diminutive pattern are:

* Thefirst letter of the word must be given a dummah

» The second letter must be given a fathah and if it is a weak letter it is
put in itsoriginal form and then given afathah

» Then the diminutive ya' is added after the second letter without any
vowel sign

» The next letter is given a kasrah except in some cases where it is given
afathah

175. The letter after the diminutive ya' is given a fathah if it is followed

by ata' or an aif. For example: 532 (flower) becomes ,4; (small flower).
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Pronouns

176. What is a pronoun?

177. How many kinds of pronouns are there?

178. What is a clear pronoun?

179. How many kinds of clear pronouns are there?

180. What is a separated clear pronoun?

181. How many kinds of separated clear pronouns are there?

182. What are the separated clear pronouns in the nominative state?

183. What are the separated clear pronouns in the accusative state?

184. What is a connected clear pronoun?

185. How many kinds of connected clear pronouns are there?

186. What are the connected clear pronouns in the nominative state?

187. What are the connected clear pronouns in the accusative and
genitive states?

188. What are the connected clear pronounsin the nominative, accusative
and genitive states?

189. What is a hidden pronoun?

190. How many kinds of hidden pronouns are there?

191. When isit permissible for a pronoun to be hidden?

192. When isit obligatory for a pronoun to be hidden?

176. A pronoun is a noun that represents a speaking, present, or absent

person. For example: Ui (1)

177. There are two types of pronouns: clear and hidden.

178. A clear pronoun is a pronoun that is pronounced. For example: s»
A2 (heisamujtahid)

179. There are two types of clear pronouns. separated and connected.
180. A separated clear pronoun is a pronoun that is essentialy

independent. For example: =< s» (he succeeded).

181. There are two types of separated clear pronouns: separated clear
pronouns in the nominative state and separated clear pronouns in the
accusative state.

182. The separated clear pronouns in the nominative state are:

* 35 (he)

« L (he dual)

* +* (they male plural)
* & (she)

« L (she dual)

* 5 (they female plural)

« &1 (you male)
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« L1 (you dual male)

« .51 (you plural male)

« o1 (you female)

« L5 (you dual female)
o 247 (you plural female)
LT ()

« = (we)
183. The separated clear pronouns in the accusative state are:
* 5L} (he)

« L2 (he dual)

* L] (they male plural)

* sl (she)

« LA (she dual)

* ZAL) (they female plural)
« SUf (you male)

« L31) (you dual male)

. (.f L (you plural male)

« S (you female)

« LS (you dual female)
« 231 (you plural female)
()

* UL (we)

184. A connected clear pronoun is a pronoun that is like a part of the

word it is connected to. For example: L= (We conquered)

185. There are three kinds of connected clear pronouns: connected clear

pronouns in the nominative state, connected clear pronounsin the accusative
and genitive states, and connected clear pronouns in the nominative,

accusative and genitive states.

186. The connected clear pronouns in the nominative state are:
e & (1), Euds (1 sat)

* & (you male), &5 (you sat)
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* & (you female), o5 (you sat)
» U (you dual male/female), Lils (you two sat)

« £ (you plural male), -2l (you guys sat)
« %3 (you plural female) , (A5 (you girls sat)
« The dudl alif, Ll (they two sat)

* 5 (masculine plural), Is> (they sat)
* O (feminine plural), L..l> (they sat)

* s (second person feminine pronoun), S (sheissitting)

187. The connected clear pronouns in the accusative and genitive states
are:

* ¢ (memy) iy 525 T (My father respects me)

« S (your, you male) SWly SSST (your father respects you)

« S (your, you female) SW\y S ST (your father respects you)

. (._‘( (your, you male plural) (._‘( Wl (._‘{,2; T (your father respects you)

. ‘ﬁ (your, you female plural) j S ui" ST (your father respects you)
« A (his, him) 315 45 5T (his father respects him)

« s (her) Lals L2 ST (her father respects her)

* + (their, them male) »3ly v455° T (their father respects them)

« £ (their, them female) A1y &45 ST (their father respects them)

188. The connected clear pronouns in the nominative, accusative, and
genitive states are:

« G (our, us) Lu;dé Lulls Ls ST (our father respects us so we study)
189. A hidden pronoun is a pronoun that is not pronounced. For example:
5 (he wrote)

190. There are two types of hidden pronouns: permissibly hidden and
obligatorily hidden.
191. The permissibly hidden pronouns are the masculine and feminine

third person pronouns. For example: yz) ;j 43) (Zayd came).
192. The obligatorily hidden pronouns are the first and second person
pronouns. For example: J ! (I say)
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1. A mujtahid is a person who is able to derive religious rulings from their sources.
For more information one can refer to the book The Basics of Islamic Jurisprudence by
Hassan al-Rida’'1 available at www.lulu.com/islamicbooks.
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Demonstrative Pronouns

193. What is a demonstrative pronoun?

194. How many kinds of demonstrative pronouns are there?

195. What are the demonstrative pronouns?

196. What is the ha that is at the beginning of the demonstrative
pronouns for close objects called and isit ever erased?

197. Is a demonstrative pronoun declinable or indeclinable?

193. A demonstrative pronoun is a noun that indicates a specific person,

animal, or thing. For example: W4! 144 (this child).

194. There are three kinds of demonstrative pronouns: for close objects,
for objects in between close and far, for far objects.

195. The demonstrative pronouns are:

* For things that are close:

1. 1ia (this, m.)

2. Ol (these two, m.)
3. ¢Ysa (these, m.)

4. oJ» (this, f.)

5. QL (these two, f.)

6. <Y5a (these, f.)
* For things that are medium range:
1. 515 (that, m.)

2. 13 (those two, m.)
3. (sl (those, m.)

4. S (that, f.)

5. S (those two, f.)

6. Sysl(those, f.)
* For things that are far:
1. S35 (that, m.)

2. K13 (those two, m.)
3. IV, (those, m.)

4. S (that, f.)

5. KU (those two, f.)

6. IVl (those, f.)
* For places:
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1. La(here)
2. (S'La(there, medium range)

3. § SJuA(there, far)

196. The ha that is in the front of demonstrative pronouns for close
objectsis called the demonstrative ha and sometimes is erased.

197. All of the demonstrative pronouns are indeclinable. The dual forms
are made indeclinable on an dif if it isin the nominative case, for example

ola, and on aya' if it isin the accusative or genitive cases, for example

e
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Conjuncts
198. What is a conjunct?
199. What is a sentence with a conjunct called?
200. What is the pronoun in the sentence with a conjunct called?
201. How many kinds of conjuncts are there?
202. What is a specific conjunct?
203. What are the specific conjuncts?
204. Are specific conjuncts declinable or indeclinable?
205. What is a common conjunct?
206. What are the common conjuncts?
198. A conjunct is a noun whose meaning is not complete unless there is

a sentence after it with a pronoun that relates to it. For example: sl ¢l

ws (SIS 50 (The servant who you talked about came).

199. The sentence after a conjunct is called a relative sentence.
200. The pronoun in the relative sentence is called a returning pronoun.

There are two kinds of returning pronouns: clear, for example L. sl ¢l
s:1 (the person whose father is traveling came) and hidden, for example sl>

&L )T s (the person who | sent for came).

201. There are two types of conjuncts: specific and common.

202. A specific conjunct is aword used specifically for single, dual, and
plural masculine and feminine words.

203. The specific conjuncts are:

» Masculine:

1. (single)
2. 1 1 (dual)
3. 541 (plural)
* Feminine:
1. éj‘ (single)
2. 587 Ul (dual)
3. AU U sl (plural)
204. Conjuncts are aways indeclinable. The dual forms are made
indeclinable on an aif if it is in the nominative state, for example g\.LIJ\ and

onaya'if itisinthe accusative or genitive states, for example QalIJ\.

205. A common conjunct is a noun that is used for all the different tenses
of conjuncts.
206. There are three common conjuncts.

* o~ Wwhich is used for rational beings. For example: (j95 o= &5 (
respect whoever visits me)
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L which is used for non-rational beings. For example: 4¢xid Ls ﬁ
& (Eat whatever your heart desires)
« &1 which is used for both rational and non-rational beings. For

example: ‘x4 351 &l &> (1 love whichever student who studies)
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Conditional Words, Interrogative Words and

Adverbial Nounsof Time or Place

207. What is a conditiona word?

208. What are the conditional words?

209. What is an interrogative word?

210. What are the interrogative words?

211. Where is a conditional or question word used in a sentence?

212. What is an adverbial noun of time or place?

213. How many kinds of adverbial nouns of time or place are there in
regards to their vowel signs?

214. What are the indeclinable adverbial nouns of time or place?

207. A conditional word is a noun written before two sentences
indicating that the result of the second sentence is conditional upon the first

sentence. For example: =3 &y 13) (if you study you will succeed)

208. Conditional words are: - (whoever), L (whatever), Lwgs (Whatever),
= (whenever), oUl (whenever), -l (Wherever), 1 (whenever), Lis
(however), LS (however), &1 (whichever). All of these words are
indeclinable except & which is declinable.

209. An interrogative word is a noun which is used to ask about
something. For example: $4» s (Who isthis?)

210. Interrogative words are: - (who), 1> = (who is this), Ls (what), >Ls
(what), »$” (how much), and & (which). All of these words are indeclinable

except (s which is declinable.

211. All conditional words and question words are written at the
beginning of the sentence.
212. An adverbia noun of time or place is a noun that indicates time or

place. For example: -2 Syl &> »U (Sell wherever your brother is

settled.)
213. There are two types of adverbial nouns of time and place regarding
their vowel signs:

* Indeclinable: &5 and 1 (yesterday).

« Declinable: | (before) and A (after).
214. Indeclinable adverbial nouns of time and place are:
* Adverbial nouns of place: RUCES (near), Xy (at), La ,QJ

* Adverbial nouns of time: 3| (whenever), ngt (yesterday), 4= (since), G4

(since), 13 (never), Wk (when,since), ot (when), 5, and oY1 (now)
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» Adverbial nouns of both time and place: -t
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Cardinal Numbers
215. How many types of numbers are there?
216. What is a cardinal number?
217. How many foundational cardinal numbers are there?
218. How many types of cardinal numbers are there?
219. What is the rule regarding a single number?
220. What is the rule regarding a compound number?
221. What is the rule regarding a decimal number?
222. What is the rule regarding a coupled number?
223. What is the rule of the number in regards to its vowel sign?
224. What is the rule of the noun after the number in regards to its vowel
sign?
215. There are two types of numbers: cardinal and ordinal.
216. A cardinal number is a noun that indicates the amount of a

countable thing. For example: sYs! ax,i (four children)

217. There are twelve foundational cardinal numbers; 4>y (one), OL3)

P

(two), X (three), aa,f (four), i (five), &w (SiX), s (seven), il

(eight), & (nine), 532 (ten), $Ls (hundred), and )T (thousand).

218. There are four types of cardinal numbers:

* Single: from oneto ten, including a hundred and a thousand.

» Compound: from eleven to nineteen.

* Decimal: from twenty until ninety.

» Coupled: from twenty-one until ninety-nine.

219. Therules relating single numbers are:

* One and two: they are masculine when the numbered object is
masculine and feminine when the numbered object is feminine. For

example: L\; 1>, (one man) and 5»\5 3@.&1 (one woman).

* From three to ten: they are feminine when the numbered object is
masculine and masculine when the numbered object is feminine. For

example:sYsl &3¢ three boys) and w1Uly &6 (three girls).
* A hundred and a thousand: they remain the same regardless if the
numbered object is masculine or feminine. For example: (2 %L (ahundred

boys) and st 5L (a hundred girls).

220. The rule regarding compound numbers is that the first part of the
number follows the rules for single numbers and the second part follows the

numbered object in gender. For example: 1s0& ;&% (eleven numbers) and

g ;2 a2 (fifteen houses).
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221. The rule regarding decima numbers is that they remain the same
regardless of the gender of the numbered object. For example: S5 O s

(twenty men) and &) &,2s(twenty women).

222. The rule regarding coupled numbers is that the first part of the
number follows the rules for single numbers and the second part remains the

same regardless of the gender of the numbered object. For example: 5 4>1s
Ogrie 3 L) 09 5, and Os,i ¢ 2305 for masculine objects and 3 5.4
Ogps 5 OB |09 50 and Og,5e 9 SN for feminine objects.

223. The rules of numbersin respect to vowel signs are:

« Two: follows the rules regarding dual forms. For example: oLl and ()

(two masculine) and oLt and &5 (two feminine).

» Decimal: follows the rules of sound masculine plurals. For example:
O ke and s (twenty).

» Compound: The first part of the number is indeclinable with a fathah.
For example: L3 2 dsf e 945 122 35 5 (dleven men sat on

eleven chairs).
» The rest of the numbers: follow the rules regarding other nouns. For

example: u.f‘f fay)f Gphels B s 2l (three men came carrying four

books).
224. The rules of the numbered object are:
 From three until ten: the numbered object is plural in the genitive state.

For example: >Y of el (three boys came).

» From a hundred to a thousand: the numbered object is singular and in
the genitive state. For example: Js iz ¢\> (ahundred boys came).

» From eleven to ninety-nine: the numbered object is singular and in the
accusative state. For example: Ts\j & in)l 2 (fourteen boys came).
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Ordinal Numbers

225. What is an ordinal number?

226. How many ordinal numbers are there?

227. How many types of ordinal numbers are there?

228. What is the ruling of ordinal numbers and the numbered object?

229. What is the ruling of ordinary numbers in regards to their vowel
signs?

225. Ordinal numbers are nouns that indicate the order of things. For

example: ~!)1 sl (the fourth boy).
226. There are twelve ordinal numbers: 3 (first), oU (second), <Ju
(third), oy (fourth), sl (fifth), sl (sixth), e (seventh), U (eighth),

&b (ninth), L (tenth), & (hundredth), and ) (thousandth).

227. There are four types of ordinal numbers:

» Single: from first to tenth.

» Compound: from eleventh to nineteenth.

* Decimal: from twentieth to ninetieth and a hundredth and a thousandth.
* Coupled: from twenty-first to ninety-ninth.

228. Ordina numbers follow the numbered object in gender. For

example: axl M sLdll o )l )1 (the fourth man and the fourth girl). The
exception to this rule is decimal numbers, they remain the same regardliess
of the gender of the numbered object. For example: L5l o 04 il SISl

09,44l (the twentieth male author and the twentieth female author)

229. All of the ordinal numbers are declinable. The exception to thisis
compound numbers, they are indeclinable with a fathah.
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The Status of Nouns

230. What are states?

231. How many types of states are there for nouns?

232. What are the signs of the different states of nouns?

233. Are there exceptions to this rule?

234. What are the signs of the nominative state for nouns that are
exceptions to the principle rule?

235. What are the signs of the accusative state for these nouns?

236. What are the signs of the genitive state for these nouns?

230. States are the changes of the end of nouns and verbs due to the

different places of a sentence that they are put into. For example: 3la) 543
(the absent person came), <3\ o, (I saw the absent person), and AW

S s (I greeted the absent person).

231. There are three states for nouns. nominative, accusative and
genitive.

232. The signs of the states are as follows:

* The nominative state: a dummah.

* The accusative state: afathah.

* The genitive state: a kasrah.

233. Yes, there are exceptions to this rule, for example: dual forms,
masculine sound plurals, feminine sound pluras, the five nouns and the
words that are unnonated.

234. The signs of the nominative state in the words that are exceptions to
the general rule:

* Dual form: alif, for example: Oldis Sl (two useful authors).

« Sound masculine plurals: waw, for example: Os+l2 <> (The lawyers
came).

* The five nouns: waw, for example: @ e S5l (Your father is ascholar).

235. The signs of the accusative state in these words:

« Dual form: ya' that has a fathah before it, for example: gls™ Egpsl (I
bought two books).

« Masculine sound plurals: ya', for example: el Eof, (I saw the

lawyers).
« The five nouns: alif, for example: S'LT &+ (I was generous to your
father).

« Feminine sound plulars: kasrah, for example: ila olela cyjsl (1

bought a beautiful watch).
236. The sings of the genitive state in these words:

« Dual form: ya' that has a fathah before it, for example: (gls™ 3 & (I
researched two books).
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 Masculine plurals: ya', for example: ol & (with lawyers).

« The five nouns: ya, for example: i s & (1 greeted your
father).

 Unnonated nouns: fathah, for example: &gy J) Eoa5 (1 went to
Beirut).
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The Status of Verbs

237. Are all verbs declinable?

238. How many states of verbs are there?

239. What are the signs of the different states of verbs?

240. Are there exceptions to this rule?

241. What are the five verbs?

242. What is the sign of the nominative state in the five verbs?

243. What is the sign of the subjunctive state in the five verbs?

244. What is the sign of the jussive state in the five verbs?

245. What is the sign of the jussive state in defective verbs?

237. Aorist verbs are declinable except if the nin of emphasis or the
feminine nan is added to it. In that case the verb would be indeclinable.

238. There are three states for verbs: nominative, subjunctive, and
jussive.

239. The signs of these states are:

» Nominative: dummah

* Subjunctive: fathah

* Jussive: sakiin

240. Yes, there are exceptionsto thisrule in:

* The five verbs

* Defective verbsin the jussive case

241. The five verbs are aorist tense verbs that:

* have adual alif, for example: oL (they 'two' are hitting)
« have a plural waw, for example: O, .22 (they are hitting)

 have a you feminine pronoun, for example: (x ,@ (you ‘female' are
hitting)

242. The nominative sign in the five verbs is the nin remaining at the
end of the verb. For example: ol =2 (those 'two' are hitting) which is an

aorist tense verb in the nominative state and its sign is the niin because it is
one of the five verbs.
243. The subjunctive sign in the five verbs is the subtraction of the nan.

For example: rﬂ-’ UJ (you 'female' never hit) which is an aorist tense verb

in the subjunctive state because of lan and its sign is the subtraction of the
nan because it is one of the five verbs.
244. The jussive sign in the five verbs is the subtraction of the nan. For

example: 1s: ,@ (l (you 'plural’ did not hit) which is an aorist tense verb in

the jussive state because of lam and its sign is the subtraction of the nin
because it is one of the five verbs.

245. The jussive sign in the defective verbs is the subtraction of the weak
letter. Thisis if it is not one of the five verbs in which the nin would be

subtracted. For example: ¢ @ (he did not throw) which is an aorist tense

verb in the jussive state because of lam and its sign is the subtraction of the
weak letter because it is aweak verb of the root letter.
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Indeclinable Nouns and Verbs

246. What is indeclinable?

247. What nouns are indeclinable?

248. What are they indeclinable on?

249. What verbs are indeclinable?

250. What are preterite tense verbs indeclinable on?

251. What are imperative verbs indeclinable on?

252. What are aorist tense verbs indeclinable on?

253. Isthere another niin other than the niin of emphasis and the feminine
nan?

254. Isthe nan of protection only added to verbs?

246. Indeclinable words are words that do not change due to the different

places of asentenceit is put in. for example: USJ! 2,1 (where is the book?),

&3 Sl (Where did you go?), and Ee 21 s (Where did you come from?)

247. Indeclinable nouns are: pronouns, demonstrative pronouns,
conjuncts, conditional nouns, interrogative words, adverbial nouns of time
or place.

248. Indeclinable nouns are indeclinable on:

« Sakan, for example: -+ (who)
« Dummah, for example: &> (how)
« Fathah, for example: 5| (where)

» Kasrah, for example: ! (yesterday)

249. The preterite tense, imperative tense, and aorist tense verbs that are
connected to the feminine nin and the nin of emphasis are indeclinable.
250. The preterite tense verb is indeclinable on:

« Fathah, for example: &% (he drank)

* Dummah, if it is connected to the plural waw, for example: s f« (they

drank)
» Sakiin, if it is connected to a nominative voweled pronoun, for example:

o225 (we drank)

251. The imperative verbs are indeclinable on:

« Sakun, for example: —,4! (drink)

* Erasing the nan, if it is connected to the plural waw, dual alif, or the
feminine second person pronoun, for example: %! (drink, addressed to
three or more people).

» Erasing the wesak letter, if it is a defective verb, for example: &} (throw).

252. The aorist tense verbs are indeclinable on:
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* Sakun, if it is connected to the feminine nan, for example: ¢ -2 (sheis
hitting)
« Fathah, if it is connected to the niin of emphasis, for example: 21 (he

is hitting!)
253. Yes, there is another nan called the nin of protection. This nan

separates the verb from the first person ya'. For example: &3> (he hit me).
254. No, the niin of protection is attached to some prepositions as well.
For example: 6» (from me).
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Implied Vowel Signs

255. Does a vowel sign appear at the end of all words?

256. In which words are vowel signs implied?

257. Which vowel signs are implied with words that end in an alif?

258. Which vowel signs are implied with words that end in a ya'
preceded by a kasrah?

259. Which vowel signs are implied with words that end in a waw
preceded by a dummah?

260. Which vowel signs are implied with words complimented by a first
person ya'?

255. No, there are some words whose vowel signs are not pronounced,
rather they are implied.

256. Implied vowel signs occur in the following words:

* Nouns and verbs ending in an alif.

» Nouns and verbs ending in aya' proceeded by a kasrah

* Verbs ending in awaw proceeded by a dummah.

* Nouns connected to the first person ya'.

257. The dummah, fathah, and kasrah are implied in nouns and verbs

ending in an alif. For example: 4! (youth)

258. The dummah and kasrah are implied in nouns and verbs ending in a
ya' proceeded by a kasrah, but the fathah is pronounced. For example:

>3 (judge)

259. The dummah is implied in verbs ending in a waw proceeded by a
dummah, but the fathah is pronounced. For example: s¢l: (he diverts)

260. The dummah and fathah are implied in nouns connected to the first
person ya', but the kasrah is pronounced. For example: 6«? (my mother)
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Nunated and Unnunated Words

261. What is a nunated word?

262. What is an unnunated word?

263. What are the most important unnunated words?

264. What is a proper noun being unnunated conditional upon?

265. What is an adjective being unnunated conditional upon?

266. What is a plural being unnunated conditional upon?

267. What is a noun ending in the feminine alif being unnunated
conditional upon?

268. When does an unnunated noun accept a kasrah?

261. A nunated word is aword that accepts nunation and all of the vowel

signs. For example: |3, (man) and 4 L= (scholar)
262. An unnunated word is a word that does not except a kasrah or
nunation. For example: «»!.| (Abraham) — s~ (Jacob).

263. The most important unnunated words are:
» Some proper nouns and singular adj ectives

* Plural nounsin the two forms Jelis and J.slis

» Any word that ends in the feminine alif
264. A Proper noun becomes unnunated if:

« itisfeminine, for example: «,» (Maryam)

* it istaken from aforeign language, for example: 35| (Isaac)

« it is a compound word, for example: i (acity in Lebanon)
* it has an alif and nan added to the end of it, for example: Olus
e itison the form of averb, for example: NVS|

« it was taken from another word, for example: <&

265. Adjectives become unnunated if:

« they are on the form S which is made feminine by putting it into the
=5 form, for example: oLzles (thirsty)

« they are on the =3 form, for example: J»T (better)

» they are taken from another word, for example: % (third)

266. Plurals are unnunated if:
» they are on the |slis form, for example: 4> L.s (mosgues)

» they are on the J.slis form, for example: z=L2* (lanterns)
267. Any noun that ends in a feminine alif is unnunated, for example:

s, (drunk)
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268. Unnunated nouns receive a kasrah if they are contracted to other
words or if they have an alif-lam. For example: sLols! J.,ub &5 (1 passed
by the best scholars).
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Prepositions

269. What are prepositions and are they declinable or indeclinable?

270. How many jar prepositions are there?

271. How many accusative prepositions are there?

272. How many jussive prepositions are there?

273. How many swearing prepositions are there?

274. How many conjunctional prepositions are there?

275. How many interrogative prepositions are there?

276. How many responsive prepositions are there?

277. How many negative prepositions are there?

278. How many vocative prepositions are there?

279. How many future prepositions are there?

280. How many infinitive prepositions are there?

281. How many conditional prepositions are there?

282. How many corroborative prepositions are there?

283. How many exceptive prepositions are there?

269. All prepositions do not have a complete meaning unless they are
accompanied with anoun or verb. All prepositions are indeclinable.

270. There are nineteen jar prepositions: »SU1 G &5 3 e 2 S o
SV Ll e s Tt e gl e oL

271. There are four accusative prepositions: S 03] ool

272. There are five jussive prepositions; (l aaldl Y Y Y ol

273. There are three swearing prepositions. sls)l <Ll <L)

274. There are nine conjunctional prepositions: i ¥ ol of 2> % <Ll )
o

275. There are two interrogative prepositions: |» 354!

276. There are six responsive prepositions: (s! Ji» e J;.T P (w

277. There are seven negative prepositions: o} oJ W 1 &Y ¥ L

278. There are seven vocative prepositions: 15 La Ll T T L |

279. There are two future prepositions. s ()

280. There are five infinitive prepositions: s L+ $° 5 of

281. There are two conditional prepositions: 55 ol

282. There are five corroborative prepositions: 46 slaz¥1 =Y 041 &F &)

283. There are four exceptive prepositions; Lil> lue S y\
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